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SAT-112(C)  Code : SS STSE/ 18

if.Mr nhun;ky mik/;k; jkT; izfrHkk [kkst ijh{kk 2018
PANDIT DEENDAYAL UPADHYAYA STATE TALENT SEARCH EXAMINATION 2018

d{kk&XII okf.kT; oxZ ds fo|kfFkZ;ksa ds fy,
FOR STUDENTS OF CLASS - XII COMMERCE GROUP

SCHOLASTIC APTITUDE TEST
Time : 90 Minutes              Max. Marks : 90

(For Blind Candidates Time : 2 Hours)

INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before you open
the question booklet.
1. Answers are to be given on a separate answer sheet

(OMR sheet).
2. Please write your Roll Number as allotted to you in the

admission card very clearly on the test-booklet and
darken the appropriate circles on the answer sheet as
per instructions given.

3. There are 90 questions in this test. All are compulsory.
The question numbers 1 to 30 Accountancy, 31 to
60 Business Studies, 61 to 90  are either on
Economics. or on Mathematics subjects. The
candidate has to attempt only one subject i.e. in
Economics or. in Mathematics.

4. Please follow the instructions given on the answer sheet
for marking the answers.

5. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. Time
permitting, you can come back to the questions, which
you have left in the first instance and attempt them.

6. Since the time allotted for this qupstion paper is very
limited, you should make the best use of it by not spend-
ing too much time on any one question.

7. Rough work can be done on the given Blank Pages
at the end of the booklet but not on the answer sheet/
loose paper.

8. Every correct answer wilt be awarded one mark. There
will be no negative marking.

9. Please return the Answer sheet (OMR Sheet) only
to the invigilator after the test.

10. Hindi version of the question. paper will be considered
as final in case of any dispute arising out of variation In
translated version.

PLEASE TURN OVER THE PAGE AND START YOUR WORK.

BSER 2018
The copyright of the contents of this booklet rests with the BSER and no part of it should be used by anybody in any manner whatsoever without the prior permission of the

BSER. The items are prepared on best effort basis. In case of any dispute the opinion of  the experts appointed by BSER will be final.

'kSf{kd ;ksX;rk ijh{kk
le; : 90 feuV          iw.kkZad : 90

(nf̀"Vghu vH;fFkZ;ksa ds fy, le; % 2 ?kaVs)

ijh{kkfFkZ;ksa ds fy, funsZ'k
iz'u iqfLrdk [kksyus ls igys fuEu funsZ'kksa dks /;ku ls
if<+, .
1. mÙkj ,d vyx mÙkj i=d ¼vks- ,e- vkj- 'khV½ esa

nsus gSA

2. dì;k viuk jksy uEcj tSlk fd vkids izos'k i= ij
fn;k x;k gS] funsZ'kkuqlkj VsLV iqfLrdk ij cgqr Li"V
fyf[k;s vkSj mÙkj&i=d ij fn;s x;s xksyksa dks dkyk djsaA

3. bl ijh{kk esa 90 iz'u gSA lHkh iz'u vfuok;Z gSaA iz'u
la[;k 1 ls 30 ys[kk 'kkL=] 31 ls 60 O;olk; v/;;u] 61
ls 90 vFkZ'kkL= ;k xf.kr fo"k; ij vk/kkfjr gSA fo|kFkhZ
dks vFkZ'kkL= ,oa xf.kr esa ls fdlh ,d fo"k; dks
gy djuk gSA

4. dì;k mÙkj fpfgzr djus ds fy, mÙkj i=kd ij fn;s x;s
funsZ'kksa dks /;ku ls le> dj mudh vuqikyuk dhft,A

5. ;fn vki fdlh iz'u dk mÙkj ugha tkurs gSa rks ml ij
cgqr le; u xaokb;s vkSj vxys iz'u ij c<+ tkb;sA ;fn
ckn esa le; feys rks ftu iz'uksa dks vkius igys NksM+ fn;k
Fkk] mu ij okil vkdj muds mÙkj nhft,A

6. D;ksafd bl iz'u&i= ds fy, fu/kkZfjr le; cgqr lhfer
gS] blfy, bldk vf/kre mi;ksx dhft, vkSj fdlh iz'u
ij cgqr le; u yxkb;sA

7. jQ d; Z iqfLrdk ds var esa fn, x, fjDr i"̀Bksa ij fd;k
tk ldrk gS fdUrq mÙkj&i=d @vyx dkxt ij ughaA

8. izR;sd lgh mÙkj dk ,d vad iznku fd;k tk,xkA blesa
_.kkRed vadu ugha gksxkA

9. dì;k ijh{kk ds ckn dsoy mÙkj&i=d ¼vks- ,e-
vkj- 'khV½ gh fujh{kd dks ykSVkb,A

10. vuqokfnr fooj.k esa vUrj ls mBs fdlh Hkh fookn dh
fLFkfr esa iz'u&i= ds fgaUnh fooj.k dks fu.kkZ;d ekuk
tk,xkA

  dì;k i"̀B iyfV;s vksj viuk dk;Z vkjEHk dhft,A
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SCHOLASTIC APTITUDE TEST (HINTS & SOLUTION)
'kSf{kd ;ksX;rk ijh{kk isij gy

bl iz'u&i= esa dqy 90 iz'u gSaA izR;sd iz'u ,d vad dk gSA
 THERE ARE 90 QUESTIONS IN THIS PAPER.  EACH QUESTION CARRIES ONE MARK.

ACCOUNTANCY (ys[kk'kkL=)

1. R , S and T share profits and losses of the firm equally. S retires and his shares is purchased by R and T
in the ratio of 3 : 2. New profit sharing ratio between R and T repecitvely will be :

R , S  r Fkk  T  ykHk-gkfu dks l eku : i  l s foHkkft r  dj r s gSA  S vodk'k xzg.k dj r k gS vkSj  ml dk fgLl k R
r Fkk  T  } kj k  3 : 2  ds vuqi kr  esa Ø;  fd; k t kr k gSA R r Fkk  T  dk u; k ykHk foHkkt u vuqi kr  Øe'k% gksxk
(1)  1 : 1 (2)  8 : 7 (3)  7 : 8 (4)  3 : 2

Sol. (2)
Old Ratio  (O/R) : R S T

3
1

3
1

3
1

Gaining Ratio (G/R) :
5
3

 of 
3
1

  =  
15
3

:
5
2

 of 
3
1

  =  
15
2

New Ratio (N/R) :
3
1

 + 
15
3

  =  
15

35 
:

3
1

 + 
15
2

  =  
15

25 

=   
15
8

=   
15
7

=  8 : 7  Ans.

2. A  and  B are parters . B draws  ` 8,000 at the end of each quarter . If  the  rate  of  interest on drawings is
10 % p.a. , then  amount  of  interest  will be :
(1)  ` 800 (2)  ` 1200 (3)  ` 960 (4)  ` 1600

A  r Fkk  B  l k>snkj  gSA B  i zR; sd fr ekgh ds vUr  esa  ` 8,000  dk vkgj .k dj r k gSA ; fn vkgj .k i j  C; kt  dh
nj  10 %  okf"kZd gks ] r ks C; kt  dh j kf'k gksxh %
(1)  ` 800 (2)  ` 1200 (3)  ` 960 (4)  ` 1600

Sol. (2)

Interest on Drawings  =  ` 8,000    4    
100
10

    
12

5.4
  =  ` 1,200   Ans.

3. At the time of dissolution of the firm. "General Reserve Account" is transferred to
(1)  Realisation A/c (2)  Profit and loss A/c
(3)  Revaluation A/c (4)  Partners Capital A/c

l k>snkj h QeZ ds l eki u ds l e;  Þl kekU;  l ap;  [ kkr kß gLr kUr fj r  fd; k t kr k gS %

(1)  ol wyh [ kkr s esa (2)  ykHk-gkfu [ kkr s esa

(3)  i queZwY; kadu [ kkr s esa (4)  l k>snkj ksa ds i w¡t h [ kkr s esa

Sol. (4)
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4. Interest of debentures issued as collateral security is paid on
(1)  Paid-up value of debentures (2)  Nominal value of debentures
(3)  No interest is paid (4)  Par value of debenture

l ei kfÜoZd i zfr Hkwfr  ds : i  esa fuxZfer  fd; s x; s _ .ki =kksa i j  C; kt  fn; k t kr k gS %

(1)  _ .ki =kksa ds pqdr k ewY;  i j (2)  _ .ki =kksa ds vafdr  ewY;  i j

(3)  dksbZ C; kt  ugha fn; k t kr k gSA (4)  _ .ki =kksa ds l eewY;  i j

Sol. (3)

5. Horizontal analysis is known as
(1)  Structural analysis (2)  Static analysis
(3)  Dynamic analysis (4)  None of these

{kSfr t  fo'ys"k.k t kuk t kr k gS %

(1)  l aj pukRed fo'ys"k.k (2)  LFkSfr d fo'ys"k.k

(3)  xfr 'khy fo'ys"k.k (4)  buesa l s dksbZ ugha

Sol. (3)

6. Debentures of a company can be issued
(1)  in lieu of cash (2)  as a collateral security
(3)  for consideration other than cash (4)  Any of these

dEi uh ds _ .ki =kksa dks fuxZfer  fd; k t k l dr k gS %

(1)  udn ds cnys esa (2)  l ei kf'Zod i zfr Hkwfr  ds cnys esa

(3)  udnh ds vfr fj Dr  vU;  i zfr Qy ds cnys esa (4)  buesa l s dksbZ Hkh

Sol. (4)

7. Padma Limited had alloted 25,000 shares to the applicants of 35,000 shares on pro-rate basis. The
amount payable on application was ` 2. Saroj, applied for 1,050 shares. The number of shares allotted
and the amount carried forward for adjustment against allotment money from Saroj will be
(1)  750 Shares ,  ` 600 (2)  850 Shares ,  ` 400
(3)  1,470 Shares ,  ` 840 (4)  800 Shares ,  ` 5000

i | ek fy feVsM us  35,000  va'kksa ds vkosndksa dks l ekuqi kr  vk/kkj  i j   25,000  va'kksa dk vkcaVu fd; kA vkosnu
i j   ` 2  ns;  FksA l j kst  us 1,050  va'kksa ds fy ; s vkosnu fd; kA l j kst  dks vkcafVr  va'kksa dh l a[ ; k r Fkk vkcaVu
i j  l ek; kst u ds fy ; s vkxs ykbZ xbZ j kf'k gksxh %

(1)  750  va'k ,  ` 600 (2)  850  va'k ,  ` 400

(3)  1,470  va'k ,  ` 840 (4)  800  va'k ,  ` 5000

Sol. (1)

Shares Allotted to Saroj  =  1,050    
7
5

  =  750 Shares

Application Money Received  =  1,050    ` 2  = ` 2,100
(–) Transfer to Share Capital  =  750    ` 2    = ` 1,500
Carried Forward to Allotment = `    600

So, 750 Shares  ;  ` 600 Ans.
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8. Working Capital of Shyam Limited is  ̀  1,80,000. If its current ratio is  2.5 : 1 , then the amount of current
assets will be :

(1)  ` 4,50,000 (2)  ` 3,00,000 (3)  ` 72,000 (4)  ` 2,52,000

'; ke fyfeVsM  dh  dk; Z'khy  i w¡t h  ` 1,80,000  gSA  ; fn  bl dk  pkyw  vuqi kr   2.5 : 1  gks,  r ks pkyw l Ei fÙk; k¡
gksxh %
(1)  ` 4,50,000 (2)  ` 3,00,000 (3)  ` 72,000 (4)  ` 2,52,000

Sol. (2)

Current Ratio  =  
1
5.2

Working Capital  =   Current Assets  –  Current Liabilities
     ` 1,80,000    =           2.5          – 1

1.5   = ` 1,80,000

Current Liabilities   =  
5.1
000,80,1`

   =   ` 1,20,000

Current Assets   =   ` 1,20,000    2.5  =  ` 3,00,000   Ans.

9. If  opening  stock  of  stationary  at  the  begining  is ̀  10,000 , at the end ̀  6,000 , and  Stationary purchased
in  cash  during  the  year  is  for  ` 25,000 ,  how  this  transaction  will  be  dealt  in  Receipts and  Payments
Account ?
(1)  On Payment Side ,  ` 29,000 (2)  On Payment Side ,  ` 25,000
(3)  On Payment Side ,  ` 21,000 (4)  On Payment Side ,  ` 41,000

; fn LVs'kuj h dk i zkj fEHkd LVkWd  ` 10,000  ,  vfUr e LVkWd  ` 6,000   r Fkk o"kZ ds nkSj ku LVs'kuj h [ kj hnh (udn)
` 25,000 ,  r ks bl  O; ogkj  dks i zkfIr  , oa Hkqxr ku [ kkr s esa fdl  i zdkj  fn[ kk; saxs \

(1)  Hkqxr ku i {k esa ]  ` 29,000 (2)  Hkqxr ku i {k esa ]  ` 25,000

(3)  Hkqxr ku i {k esa ]  ` 21,000 (4)  Hkqxr ku i {k esa ]  ` 41,000

Sol. (2)

10. In Income and Expenditure Account ________ items are shown .
(1)  Revenue and Capital both (2)  Only Revenue
(3)  Only Capital (4)  Only Deffered Revenue Expenditure

vk;  - O; ;  [ kkr s esa  ________  ensa gh fn[ kkbZ t kr h gSA

(1)  vk; xr  , oa i w¡t hxr  nksuksa (2)  dsoy vk; xr

(3)  dsoy i w¡t hxr (4)  dsoy vkLFkfxr  vk; xr  O; ;

Sol. (2)

11. When Accounting Income is less than the Taxable Income , it leads to :
(1)  Reserve and Surplus (2)  Deffered Tax Liability
(3)  Long Term Loan (4)  Deffered Tax Assets

t c ys[ kkadu vk;  ] dj  ; ksX;  vk;  l s de gksr h gS ] r ks mRi Uu gksr k gS %

(1)  l ap;  , oa vkf/kD; (2)  LFkfxr  dj  nkf; Ro

(3)  nh?kZdkyhu _ .k (4)  LFkfxr  dj  l Ei fÙk; k¡

Sol. (2)
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12. A  and B are  partners  sharing  profits in the ratio of  1 : 2 .  C was  the Manager , who  received  the  Salary
of  ` 15,000 per month and Commission of 10 %  on  net  profit  after  charging  such  Commission . Total
remuneration  payable  to  C  amounted  to  ` 2,70,000 . Profit  for  the  year  before  charging  Salary  and
Commission  of  C  was :

A r Fkk B   1 :  2  ds vuqi kr  esa ykHk foHkkt u dj r s gq; s l k>snkj  gSA  C  mudk eSust j  Fkk ] ft l s  ` 15000  ekfl d
osr u r Fkk ykHkksa esa l s deh'ku pkt Z dj us ds i 'pkr ~ ds 'kq)  ykHk dk 10 %  deh'ku i zkIr  gksr k FkkA  C  dks dqy
ns;  i kfj Jfed  ` 2,70,000  gqvkA  C  dk osr u , oa deh'ku pkt Z dj us l s i woZ QeZ dk ykHk Fkk %
(1)  ` 10,05,000 (2)  ` 10,50,000 (3)  ` 11,70,000 (4)  ` 9,00,000

Sol. (3)
Net Profit Before C’s Salary and Commission = ` 11,70,000
Less :  Salary  (` 15,000  12) = `   1,80,000
Net Profit After Salary , But Before Commission = `   9,90,000
Less :  C’s Commission (` 2,70,000 – ` 1,80,000) = `     90,000
     Net Profit After C’s Salary and Commission = `   9,00,000

So ,  Net Profit Before C’s Salary and Commission  :  ` 11,70,000

13. LIC  Premium  of  Proprietor  paid  by  business  is not treated as Business Expense due to which Accounting
Concept ?
(1)  Cost Concept (2)  Matching Concept
(3)  Business Entity Concept (4)  Going Concern Concept

fdl  ys[ kkadu vo/kkj .kk ds dkj .k O; ol k;  l s ekfyd ds t hou chek i zhfe; e ds Hkqxr ku dks O; ol k;  dk [ kpkZ
ugha ekuk t kr k gS \

(1)  ykxr  vo/kkj .kk (2)  feyku vo/kkj .kk

(3)  O; kol kf; d bdkbZ vo/kkj .kk (4)  pkyw O; ol k;  vo/kkj .kk

Sol. (3)

14. Balance of Petty Cash Book is :
(1)  An Expense (2)  Profit (3)  Liability (4)  An Asset

[ kqnj k j ksdM+ cgh dk 'ks"k gS %

(1)  [ kpkZ (2)  ykHk (3)  nkf; Ro (4)  l Ei fÙk

Sol. (4)

15. Which of the following is CORRECT ?
(1)  Opening Stock – Closing Stock – Purchases + Cost of Goods Sold = Zero
(2)  Opening Stock + Closing Stock – Purchases = Cost of Goods Sold
(3)  Purchases + Opening Stock – Closing Stock – Cost of Goods Sold = Zero
(4)  Cost of Goods Sold – Closing Stock – Purchases – Opeining Stock = Zero

fuEufyf[ kr  esa l s dkSul k l gh gS \

(1)  i zkj fEHkd LVkWd  – vfUr e LVkWd  – Ø;  + csps x; s eky dh ykxr   =  'kwU;

(2)  i zkj fEHkd LVkWd  + vfUr e LVkWd  – Ø;   =  csps x; s eky dh ykxr

(3)  Ø;  + i zkj fEHkd LVkWd  – vfUr e LVkWd  – csps x; s eky dh ykxr   =  'kwU;

(4)  csps x; s eky dh ykxr  – vfUr e LVkWd  – Ø;  – i zkj fEHkd LVkWd   =  'kwU;

Sol. (3)
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16. Depreciation  is  appearing  in  the  Trial  Balance  of  a  Company . While  preparing  Final  Accounts , it
should  be  shown  in :
(1)  the Profit and Loss Account and the Balance Sheet
(2)  the Profit and Loss Account or Balance Sheet
(3)  the Balance Sheet as a Dfpeduction from the Asset concerned
(4)  the Profit and Loss Accounts.

ewY;  âkl  dks , d dEi uh ds r y i V esa n'kkZ; k x; k gSA vfUr e [ kkr s cukr s l e;  bl s n'kkZ; k t k; sxk %

(1)  ykHk - gkfu [ kkr s r Fkk fpës esa (2)  ykHk - gkfu [ kkr s vFkok fpës esa

(3)  fpës l s l EcfU/kr  l Ei fÙk esa l s ?kVkdj (4)  ykHk - gkfu [ kkr s esa

Sol. (4)

17. If  Opening  Capital  is  ` 90,000 ,  Closing Capital is  ̀  45,000 ,  Loss during the years ̀  24,000 , Drawings
` 21,000 ,  then  Additional Capital will be :
(1)  ` 48,000 (2)  ` 42,000 (3)  ` 21,000 (4)  Zero

; fn i zkj fEHkd i w¡t h  ` 90,000 ,  vfUr e i w¡t h  ` 45,000 ,  o"kZ ds nkSj ku gkfu  ` 24,000 ,  vkgj .k  ` 21,000  gks r ks]
yxkbZ xbZ vfr fj Dr  i w¡t h gksxh %
(1)  ` 48,000 (2)  ` 42,000 (3)  ` 21,000 (4)  Zero

Sol. (4)

18. Which  of  the  following  statement(s)   is  FALSE ?
(1)  Bank A/c is a Personal A/c (2)  Provision for Depreciation A/c' is a Real A/c
(3)  Outstanding Salary A/c is a Nominal A/c (4)  Plant A/c. is a Real A/c

fuEufy f[ kr  esa l s dkSul k dFku xyr  gS \

(1)  ÞcSad [ kkr kß , d O; fDr xr  [ kkr k gS (2)  ÞewY;  âkl  gsr q vk; kst u [ kkr kß , d okLr fod [ kkr k gS

(3)  ÞvnÙk osr u [ kkr kß , d ukeek=k dk [ kkr k gS(4)  Þl a; U=k [ kkr kß , d okLr fod [ kkr k gS

Sol. (3)

19. Total of a Trial Balance will NOT match if :
(1)  ̀  500 Received from Ram is Credited to Rohan's account
(2)  Machinery Purchased for ` 5,000 is Debited to Purchases Account
(3)  Goods worth ` 2,000 Returned to Rahul is not entered in the Books of Accounts
(4)  ` 3,000 paid to Rohan is Credited in Rohan's account

r y i V ds ; ksx dk feyku ugha gksxk ; fn %

(1)  j ke l s i zkIr   ` 500  dks j ksgu ds [ kkr s esa t ek dj  fn; k x; k

(2)   ` 5,000  dh e'khuj h dh [ kj hn dks Ø;  [ kkr s esa uke fd; k x; k

(3)   j kgqy dks  ` 2,000  ds eky dh oki l h dks ys[ kk i qLr dksa esa ugha fy [ kk x; k

(4)   j ksgu dks  ` 3,000  ds Hkqxr ku dks j ksgu ds [ kkr s esa t ek fd; k x; kA

Sol. (4)
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20. Which of the following Statement is FALSE ?
(1)  Noting Charges are ultimately borne by the Drawer
(2)  The total of Bills Receivable book is posted in the Debit of B/R Account
(3)  3 days of Grace are Added to arrive at the Date of Maturity
(4)  Parties of Promissory note are : Writer and Payee

fuEufy f[ kr  esa l s dkSul k dFku xyr  gS \

(1)  fudj kbZ [ kpsZ vUr r % ys[ kd } kj k ogu fd; s t kr s gSA

(2)  i zkI;  fcy  i qLr d ds ; ksx dks i zkI;  fcy  [ kkr s esa ukesa fd; k t kr k gSA

(3)  i fj i Dor k dh fr fFk dh x.kuk gsr q r hu vuqxzg fnol  t ksMs+ t kr s gSA

(4)  i zfr Kk i =k ds i {kdkj  gksr s gS %  ys[ kd r Fkk i zkI; dÙkkZ

Sol. (1)

21. Cash Sales ` 25,000 , Cash Collected from Debtors ` 65,000 , Bad Debts during the year ` 2,500 ,
Debtors at  begininng  ̀  10,000 . Total Sales will be :

j ksdM+ foØ;  ` 25,000 ,  nsunkj ksa l s j ksdM+ dk l axzg  ` 65,000 ,  o"kZ ds nkSj ku Mwcr  _ .k  ` 2,500 ,  i zkj EHk esa
nsunkj   ` 10,000 .  dqy foØ;  gksxk %
(1)  ` 85,000 (2)  ` 82,500 (3)  ` 90,000 (4)  ` 77,500

Sol. (2)

22. A Note sent by Buyer on Return of Goods is called as
(1)  Debit Note (2)  Credit Note (3)  Return Note(4)  None of these

Øsr k } kj k eky dh oki l h i j  Hkst k t kus okyk i =k (uksV)  dgykr k gS %

(1)  uke i =k (2)  t ek i =k (3)  oki l h i =k (4)  buesa l s dksbZ ugha

Sol. (1)

23. Which Method of Depreciation takes into account the Interest on Capital Outlay ?
(1)  Straight Line Method (2)  Diminishing Balance Method
(3)  Annuity Method (4)  Depletion Method

ewY; âkl  dh fdl  fof/k esa yxkbZ xbZ i w¡t h i j  C; kt  dks /; ku esa j [ kk t kr k gS \

(1)  l h/kh j s[ kk fof/k (2)  Øekxr  âkl  fof/k

(3)  okf"kZdh fof/k (4)  fj fDr dj .k fof/k
Sol. (3)

24. Bank Debit Balance as per Cash Book ` 4,000
Cheques Deposited into Bank , but Not Collected `    200
Cheques Issued , but Not Presented for Payment `    300
Bank Allowed Interest `    100
Dividend Collected by Bank , but Not Entered into the Cash Book `    100

Balance of Pass book will be
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j ksdM+ cgh ds vuql kj  cSad MsfcV 'ks"k ` 4,000

pSd cSad esa t ek dj k; s ] fdUr q l axzfgr  ugha gq; s `    200

pSd fuxZfer  ] fdUr q Hkqxr ku ds fy ; s i zLr qr  ugha `    300

cSad } kj k C; kt  fn; k x; k `    100

cSad } kj k ykHkka'k l axzfgr  ] fdUr q j ksdM+ cgh esa ys[ kk ugha `    100

i kl  cqd dk 'ks"k gksxk %

(1)  ` 3,900 (2)  ` 4,700 (3)  ` 4,300 (4)  ` 4,200

Sol. (3)
 Plus           Minus

Debit Balance as Per Cash Book 4,000  ––
(i) Cheques Deposited into Bank , But Not Collected   –– 200
(ii) Cheques Issued , But Not Presented for Payment   300  ––
(iii) Bank Allowed Interest   100  ––
(iv) Dividend Collected by Bank , But Not Entered into

Cash Book              100  ––
4,500 200

Credit / Positive Balance as Per Pass Book ` 4,300

25. A and B are Partners in a Partnership Firm with Capitals of  ̀  18,000 and  ̀  20,000 repsectively . C was

Admitted for 
3
1

rd  Share  in Profits and brings  ` 24,000 as Capital . The Amount of Goodwill of the firm is:

(1)  ` 15,000 (2)  ` 8,000 (3)  ` 24,000 (4)  ` 10,000

A  r Fkk B  , d l k>snkj h QeZ esa Øe'k%  ` 18,000 r Fkk  ` 20,000  dh i w¡t h } kj k l k>snkj  gSA C dks ykHkksa ds 
3
1

rd

Hkkx gsr q i zos'k fn; k x; k ] t ks i w¡t h ds fy ; s  ` 24,000 yk; kA QeZ dh [ ; kfr  gksxh %
(1)  ` 15,000 (2)  ` 8,000 (3)  ` 24,000 (4)  ` 10,000

Sol. (4)

26. A Trial Balance contains the Balances of which Accounts ?
(1)  Only Personal Account (2)  Only Impersonal Account
(3)  Personal and Real Account (4)  Personal and Impersonal Account

r y i V esa fdu [ kkr ksa ds 'ks"kksa dks fy [ kk t kr k gS \

(1)  dsoy O; fDr xr  [ kkr s (2)  dsoy vO; fDr xr  [ kkr s

(3)  O; fDr xr  r Fkk okLr fod [ kkr s (4)  O; fDr xr  r Fkk vO; fDr xr  [ kkr s

Sol. (4)

27. When all Transactions of Joint Venture are entered in the books of all Coventures , Goods Sold on Credit
by a Venturer and Received a Bill by him , which is Discounted from the Bank , such Discount will be
shown in his Books in :
(1)  Coventurer Account (2)  Discount Account
(3)  Joint Venture Account (4)  Bills Receivable Account
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t c l Hkh l gl kgfl ; ksa dh i qLr dksa esa l a; qDr  l kgl  ds l Hkh O; ogkj ksa dk ys[ kk fd; k t kr k gS ] , d l kgl h } kj k
m/kkj  esa eky cspdj  fcy  i zkIr  fd; k ] t ksfd ml ds } kj k cSad l s cês i j  Hkquk fy ; k x; k ] ml dh i qLr dksa esa , sl k
cêk fn[ kk; k t kr k gS %

(1)  l gl kgl h [ kkr s esa (2)  cêk [ kkr s esa

(3)  l a; qDr  l kgl  [ kkr s esa (4)  i zkI;  fcy  [ kkr s esa

Sol. (3)

28. The Ancient Central Accounts Officer was called :
(1)  Akshapatalamadhyaksh (2)  Treasurer
(3)  Cashier (4)  Accountant

i zkphu dsUnzh;  ys[ kkf/kdkj h dgykr k Fkk %

(1)  v{ki Vye/; {k (2)  l fé/kkr k

(3)  dks"ki ky (4)  ys[ kkdkj

Sol. (1)

29. A Consignor sent 100 Cycles @ ̀  2,000 each to Consignee and bears ̀  10,000 Expenses for Transportation

and  Insurance . 10 Cycles were Damaged in Transit for which only 
5
1

th of Purchase Price was received

and  ` 5,000 were Received from Insurance Company . The Value of Abnormal Loss is :

i zs"kd } kj k 100 l kbfdysa ] i zfr  l kbfdy  ` 2,000  ewY;  i j   ` 10,000  HkkM+k , oa chek O; ;  ogu dj r s gq; s i zs"k.kh

dks Hkst h xbZA ekxZ esa 10  l kbfdysa {kfr xzLr  gks xbZ ] ft u i j  Ø;  ewY;  dk 
5
1

th  Hkkx i zkIr  gqvk r Fkk chek dEi uh

l s ` 5,000  i zkIr  gq; sA vl kekU;  gkfu dk ewY;  cr kb; s :
(1)  ` 16,000 (2)  ` 10,000 (3)  ` 17,000 (4)  ` 12,000

Sol. (4)

30. In Self Balancing System ,  which Accounts are prepared in General Ledger ?
(1)  Total Debtors and Total Creditors Account
(2)  Sales Ledger Adjustment and Purchase Ledger Adjustment Account
(3)  General Ledger Adjustment and Sales Ledger Adjustment Account
(4)  Purchase Ledger Adjustment and General Ledger Adjustment Account

Lodh;  l ar qyu i z.kkyh esa ] l kekU;  [ kkr k cgh esa dkSu l s [ kkr s cuk; s t kr s gS \

(1)  dqy nsunkj  r Fkk dqy ysunkj  [ kkr sA

(2)  foØ;  [ kkr k cgh l ek; kst u [ kkr k r Fkk Ø;  [ kkr k cgh l ek; kst u [ kkr kA

(3)  l kekU;  [ kkr k cgh l ek; kst u [ kkr k r Fkk foØ;  [ kkr k cgh l ek; kst u [ kkr kA

(4)  Ø;  [ kkr k cgh l ek; kst u [ kkr k r Fkk l kekU;  [ kkr k cgh l ek; kst u [ kkr kA

Sol. (2)
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BUSINESS STUDIES (O; ol k;  v/; ; u)

31. The Functional Area of Business Management is included in :
(1)  Education Management (2)  Technical Management
(3)  Production Management (4)  Environment Management

O; kol kf; d i zcU/k ds fØ; kRed {ks=k esa l fEefyr  gS %

(1)  f'k{kk i zcU/k (2)  r duhdh i zcU/k

(3)  mRi knu i zcU/k (4)  okr koj .k i zcU/k

Sol. (3)

32. Main Function of Management is :
(1)  Decision (2)  Staffing (3)  Communication (4)  Control

i zcU/k dk eq[ ;  dk; Z gS %

(1)  fu.kZ; u (2)  fu; qfDr (3)  l Ei zs"k.k (4)  fu; U=k.k

Sol. (4)

33. Herzberg's Motivation factor includes :
(1)  Supervision (2)  Achivements (3)  Salary (4)  Job Security

gt ZcxZ ds vfHki zsj d ?kVd esa l fEefyr  gS %

(1)  i ; Zos{k.k (2)  mi YfC/k; k¡ (3)  osr u (4)  dk; Z l qj {kk

Sol. (2)

34. Propounder of Two Factor Theory is :
(1)  William Ouchi (2)  McGregor (3)  Herzberg (4)  Harold Koontz

f} -?kVd fopkj /kkj k ds i zfr i knd gS %

(1)  fofy ; e vkSph (2)  eSdxzsxj (3)  gt ZcxZ (4)  gsj kYM+ dwUVt ~

Sol. (3)

35. A Leader should have Quality according to Ordway Tead is :
(1)  Responsibility (2)  Maturity (3)  Initiative (4)  Knowledge

vkMZos VhM+ ds er kuql kj  ] , d usr k dk xq.k gS %

(1)  mÙkj nkf; Ro (2)  i fj i Dor k (3)  i gy i u (4)  Kku

Sol. (2)

36. Consumer Promotion Method is :
(1)  Coupon (2)  Meetings and Conference  (3)  Training (4)  Fashion Show

mi HkksDr k l ao) Zu fof/k gS %

(1)  dwi u (2)  l Hkk, sa r Fkk l Eesyu (3)  i zf'k{k.k (4)  QS'ku 'kks

Sol. (1)
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37. The Propounder of Management by objectives is :
(1)  Star (2)  Raymond (3)  Mondy (4)  Drucker

mís'; ksa } kj k i zcU/k ds i zfr i knd gS %

(1)  LVkj (2)  j se.M (3)  eks.Mh (4)  Mªdj

Sol. (4)

38. Function of Marketing is :
(1)  Basis of Planning (2)  Marketing Planning (3)  More Sales (4)  Increase in Profit

foi .ku dk dk; Z gS %

(1)  fu; kst u dk vk/kkj (2)  foi .ku fu; kst u (3)  vf/kd foØ; (4)  YkkHkksa esa o‘f)
Sol. (2)

39. Characteristics of Valid Contract is :
(1)  Agency (2)  Offer (3)  Agreement (4)  One Party

oS/k vuqcU/k dk y{k.k gS %

(1)  , t sUl h (2)  i zLr ko (3)  Bgj ko (4)  , d i {kdkj

Sol. (3)

40. "Entrepreneurship  is  the  Composite  of  Three  Basic  Elements – Invention ,   Innovation  and Adaptation"
. This is the statement of :
(1)  Robbins and Coutler (2)  Prof. Rao & Mehta
(3)  Prof. Musslman (4)  Howard Johnson

"m| fer k ds r hu ewyHkwr  r Roksa – vkfo"dkj  ,  uokpkj  r Fkk vaxhdj .k dk feJ.k gS"A ; g dFku gS %

(1)  j ksfcUl  r Fkk dksVyj  dk (2)  i zksñ j ko , os esgr k dk

(3)  i zksñ eql syeku dk (4)  gkWoMZ t kWul u dk

Sol. (4)

41. The reason for the Countries such as Japan and China being in the top place in the World Economy is
(1)  Natural Resource (2)  Entrepreneur
(3)  Speed of Work (4)  Employment

t ki ku r Fkk phu t Sl s ns'kksa dk fo'o vFkZO; oLFkk esa fl j ekSj  LFkku gksus dk dkj .k gS %

(1)  i zkd‘fr d l al k/kku (2)  m| eh

(3)  dk; Z dh xfr (4)  j kst xkj

Sol. (2)

42. Social Insurance includes :
(1)  Sickness Insurance (2)  Marine Insurance
(3)  Fire Insurance (4)  Double Insurance

l kekft d chek esa l fEefyr  gS %

(1)  chekj h chek (2)  l eqnzh chek (3)  vfXu chek (4)  nksgj k chek

Sol. (1)
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43. The Writer of the book "Administration Industrielle at Generale" is :
(1)  Urwick (2)  Henry Fayol (3)  Drucker (4)  Taylor

"Administration  Industrielle  at  Generale"  i qLr d ds ys[ kd gS %

(1)  mfoZd (2)  gsuj h Qs; ksy (3)  Mªdj (4)  Vsyj

Sol. (2)

44. The Person who guides the other Person is called :
(1)  Motivator (2)  Co-ordinator (3)  Planner (4)  Leader

vU;  O; fDr ; ksa dk ekxZn'kZu dj kus okys O; fDr  dks dgr s gS %

(1)  vfHki zsj d (2)  l eUo; d (3)  fu; kst d (4)  usr k

Sol. (4)

45. Produced Goods are said to be distributed according to their Kind and Quantities . This is called :
(1)  Grading (2)  Standardisation (3)  Labelling (4)  Sorting

mRi kfnr  oLr qvksa dks mudh fdLe , oa xq.kksa ds vuql kj  ck¡Vuk dgykr k gS %

(1)  Js.kh; u (2)  i zeki hdj .k (3)  yscfyax (4)  NaVuh

Sol. (1)

46. Annual  Premium  Amount  of  "Pradhanmantri  Suraksha  Bima  Yojna"  is :

Þi z/kkuea=kh l qj {kk chek ; kst ukß dh okf"kZd i zhfe; e j kf'k gS % :
(1)  ` 11 (2)  ` 12 (3)  ` 13 (4)  ` 14

Sol. (2)

47. The Total Number of Chapters in "Indian Companies Act , 2013"  is :

ÞHkkj r h;  dEi uh vf/kfu; e , 2013  esa dqy v/; k;  gS %
(1)  29 (2)  15 (3)  7 (4)  21

Sol. (1)

48. Maxmimum Number of Members of Private Company according to New Companies Act  is :

u; s dEi uh vf/kfu; e ds vuql kj  fut h dEi uh dh vf/kdr e l nL;  l a[ ; k gS %
(1)  100 (2)  200 (3)  50 (4)  20

Sol. (2)

49. According  to  Companies  Act , 2013 , what Percentage of the Gross Profit earned by each Company in
the last three years can give Political Donation ?

dEi uh vf/kfu; e , 2013  ds vuql kj  ,  i zR; sd dEi uh xr  r hu o"kksZa esa vft Zr  l dy  ykHk dk fdr uk i zfr 'kr
j kt uSfr d nyksa dks pUnk ns l dr h gS \
(1)  10 (2)  7.5 (3)  8.5 (4)  6.5

Sol. (2)
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50. Secondary Function of Office is :
(1)  Receiving Information (2)  Financing
(3)  Communnication (4)  Care of Assets

dk; kZy;  dk f} r h; d dk; Z gS %

(1)  l wpuk, sa i zkIr  dj uk (2)  foÙk O; oLFkk

(3)  l Ei zs"k.k (4)  l Ei fÙk; ksa dh ns[ kHkky

Sol. (3)

51. The Kinds of Office on the Basis of Organisational Structure are :
(1)  four (2)  three (3)  five (4)  two

l axBukRed l aj puk ds vk/kkj  i j  dk; kZy;  ds i zdkj  gS %

(1)  pkj (2)  r hu (3)  i k¡p (4)  nks

Sol. (1)

52. Final Step of Effective Office Management is :
(1)  Test (2)  Appropriate Alternative (3)  Feedback (4)  Control

i zHkkoh dk; kZy;  i zcU/k dk vfUr e pj .k gS %

(1)  t k¡p (2)  mi ; qDr  fodYi (3)  i zfr i qf"B (4)  fu; U=k.k

Sol. (4)

53. India is Ranked _________ among the Top 50 Countries in terms of Tourism .

i ; ZVu dh n‘f"V l s fo'o ds l oksZPp  50  ns'kksa esa Hkkj r  dk ________ LFkku gSA
(1)  41st (2)  31st (3)  40th (4)  32nd

Sol. (1)

54. Characteristic of Office is :
(1)  Communication (2)  Departmentation (3)  Organisation (4)  Direction

dk; kZy;  dh fo'ks"kr k gS %

(1)  l Ei zs"k.k (2)  foHkkxhdj .k (3)  l axBu (4)  funsZ'ku

Sol. (2)

55. The Alternate name of "Grapevine Communication" is :
(1)  Formal Communication (2)  Informal Communication
(3)  Downward Communication (4)  Horizontal Communication

Þvaxwj hyr k l Ei zs"k.kß dk oSdfYi d uke gS %

(1)  vkSi pkfj d l Ei zs"k.k (2)  vukSi pkfj d l Ei zs"k.k

(3)  v/kksxkeh l Ei zs"k.k (4)  l er y  l Ei zs"k.k

Sol. (2)

56. Online Activities of Products and Services are called :
(1)  Communication (2)  Mobile Commerce (3)  e-Commerce (4)  e-Business

mRi knksa , oa l sokvksa dh vkWuykbu xfr fof/k; ksa dks dgr s gS %

(1)  l apkj (2)  eksckby dkWel Z (3)  bZ-dkWel Z (4)  bZ-fct usl

Sol. (3)
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57. The First Step of Online Transaction Method is :
(1)  Order (2)  Digital Cash (3)  Payment Mode (4)  Registration

vkWuykbu ysunsu dh fof/k dk i zFke pj .k gS %

(1)  vkns'k (2)  vadh;  udn (3)  Hkqxr ku r U=k (4)  j ft LVªs'ku

Sol. (4)

58. In India , Sales Tax was First Applied in :
(1)  Uttar Pradesh (2)  Madhya Pradesh (3)  Rajasthan (4)  Gujarat

Hkkj r  esa l oZi zFke foØ;  dj  ykxw gqvk Fkk %

(1)  mÙkj  i zns'k esa (2)  e/;  i zns'k esa (3)  j kt LFkku esa (4)  xqt j kr  esa

Sol. (2)

59. Kinds  of  Misrepresentation  are :
(1)  Five (2)  Four (3)  Two (4)  Three

feF; ko.kZu ds i zdkj  gS %

(1)  i k¡p (2)  pkj (3)  nks (4)  r hu

Sol. (3)

60. Kinds of Communication according to Flow are :
(1)  Four (2)  Two (3)  Five (4)  Three

i zokg ds vk/kkj  i j  l Ei zs"k.k ds i zdkj  gS %

(1)  pkj (2)  nks (3)  i k¡p (4)  r hu

Sol. (1)

ECONOMICS ¼vFkZ’ kkL=k½

61. The Ecomomist who gave the Definition of Economics related to Economic Welfare is :
(1)  Adam Smith (2)  Marshall (3)  Robbins (4)  Keynes

vFkZ'kkL=k dh vkfFkZd dY; k.k l EcU/kh i fj Hkk"kk nsus okyk vFkZ'kkL=kh gS %

(1)  , Me fLeFk (2)  ek'kZy (3)  j kWfcUl (4)  dhUl

Sol. (2)

62. The Power of Goods which satisfies our wants , is called :
(1)  Consumption (2)  Production (3)  Utility (4)  Exchange

oLr qvksa dh og 'kfDr  t ks gekj h vko'; dr kvksa dks l Ur q"V dj r h gS ] dgykr h gS %

(1)  mi Hkksx (2)  mRi knu (3)  mi ; ksfxr k (4)  fofue;

Sol. (3)
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63. The Inverse relationship between Price and Quantity Demanded of a Commodity is called :
(1)  Law of Supply (2)  Law of Consumption (3)  Law of Production (4)  Law of Demand

fdl h oLr q dh dher  , oa ek¡x dh ek=kk dk i zfr ykHk l EcU/k dgykr k gS %

(1)  i wfr Z dk fu; e (2)  mi Hkksx dk fu; e (3)  mRi knu dk fu; e (4)  ek¡x dk fu; e

Sol. (4)

64. The Total Stages of the Law of Variable Proportions are :
(1)  3 (2)  5 (3)  4 (4)  2

i fj or Zu'khy vuqi kr ksa ds fu; e dh dqy voLFkk, sa gS %
(1)  3 (2)  5 (3)  4 (4)  2

Sol. (3)

65. The example of Implicit Cost is :
(1)  Payment of Interest (2)  Payment of Wages
(3)  Payment of Raw Material (4)  Interest of Own Capital

vO; Dr  ykxr  dk mnkgj .k gS %

(1)  C; kt  dk Hkqxr ku (2)  et nwj h dk Hkqxr ku

(3)  dPps eky dk Hkqxr ku (4)  Lo; a dh i w¡t h dk C; kt

Sol. (4)

66. The Average Revenue (AR) Curve of a Perfectly Competitive Market is :

i w.kZ i zfr ; ksxh ckt kj  dk vkSl r  vkxe oØ gS %

(1)  (2)

(3)  (4)

Sol. (1)

67. The Characteristic of Oligopoly Market is :
(1)  Large Number of Sellers (2)  Single Seller
(3)  Perfectly Elastic Demand Curve (4)  Price Rigidity
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vYi kf/kdkj  ckt kj  dh fo'ks"kr k gS %

(1)  foØsr kvksa dh vR; kf/kd l a[ ; k (2)  , d gh foØsr k

(3)  i w.kZr ; k ykspnkj  ek¡x oØ (4)  dher  i fj n‘<+r k

Sol. (4)

68. The Position of Market Equilibrium is :
(1)  Market Demand = Price (2)  Market Demand = Market Supply
(3)  Market Demand = Total Consumption (4)  Market  Demand = Total Saving

ckt kj  l ar qyu dh fLFkfr  gS %

(1)  ckt kj  ek¡x  =  dher (2)  ckt kj  ek¡x  =  ckt kj  i wfr Z

(3)  ckt kj  ek¡x  =  dqy mi Hkksx (4)  ckt kj  ek¡x  =  dqy cpr

Sol. (2)

69. Stock is related to :
(1)  a Particular Point of Time (2)  a Particular Period of Time
(3)  Period of One Year (4)  Period of Five Years

LVkWd dk l EcU/k gS %

(1)  , d fuf'pr  l e;  fcUnq l s (2)  , d fuf'pr  l e; kof/k l s

(3)  , d o"kZ dh vof/k l s (4)  i k¡p o"kZ dh vof/k l s

Sol. (1)

70. The most Appropriate Measure of National Income is :
(1)  Gross Domestic Product at Market Price (2)  Gross National Product at Market Price
(3)  Net National Product at Factor Cost (4)  Net Domestic Product at Market Price

j k"Vªh;  vk;  dk l okZf/kd mi ; qDr  eki  gS %

(1)  ckt kj  dher  i j  l dy  ?kj syw mRi kn (2)  ckt kj  dher  i j  l dy  j k"Vªh;  mRi kn

(3)  l k/ku ykxr  i j  'kq)  j k"Vªh;  mRi kn (4)  ckt kj  dher  i j  'kq)  ?kj syw mRi kn

Sol. (3)

71. The Function of Commercial Bank is :
(1)  Credit Creation (2)  Credit Control
(3)  Issue of Currency (4)  Lender of Last Resort

O; ki kfj d cSad dk dk; Z gS %

(1)  l k[ k fuekZ.k (2)  l k[ k fu; U=k.k

(3)  eqnzk dk fuxZeu (4)  vfUr e _ .knkr k

Sol. (1)
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72. The Central Bank of India is :
(1)  State Bank of India (2)  Punjab National Bank
(3)  Reserve Bank of India (4)  Union Bank

Hkkj r  dk dsUnzh;  cSad gS %

(1)  Hkkj r h;  LVsV cSad (2)  i at kc us'kuy cSad

(3)  Hkkj r h;  fj t oZ cSad (4)  ; wfu; u cSad

Sol. (3)

73. If  MPS = 0.3 , then the Value of MPC will be :
(1)  0.5 (2)  0.2 (3)  0.6 (4)  0.7

; fn  MPS = 0.3  gS ] r ks MPC dk eku gksxk %
(1)  0.5 (2)  0.2 (3)  0.6 (4)  0.7

Sol. (4)
MPC + MPS = 1
MPC =  1 – MPS

=  1 – 0.3 =  0.7 Ans.

74. The Determinant of Investment Demand is :
(1)  Income (2)  Consumption
(3)  Marginal Efficiency of Capital (4)  Exchange Rate

fofu; ksx ek¡x dk fu/kkZj d gS %

(1)  vk; (2)  mi Hkksx

(3)  i w¡t h dh l hekUr  dk; Zn{kr k (4)  fofue;  nj

Sol. (3)

75. If the Value of One Dollar is Increased from  ` 65  to  ` 70 , then it is called as : (in respect of Dollar)
(1)  Devaluation (2)  Revaluation (3)  Inflation (4)  Overdraft

; fn , d Mkyj  dk ewY;   ` 65  l s c<+kdkj   ` 70  dj  fn; k t kr k gS ] r ks ; g dgykr k gS % (Mkyj  ds l anHkZ esa)

(1)  voewY; u (2)  vf/kewY; u (3)  eqnzkLQhfr (4)  vf/kfod"kZ

Sol. (2)

76. The  APP launched for Cashless Transaction by Government of India is :
(1)  ATM (2)  BHIM (3)  e-Commerce (4)  e-Wallet

Hkkj r  l j dkj  } kj k udn foghu ysu-nsu ds fy ; s , si  t kj h fd; k x; k gS ] og gS %

(1)  , Vh, e (2)  Hkhe (3)  bZ-dkWel Z (4)  bZ-okysV

Sol. (2)

77. The Economist related to Wantlessness Definition of Economics is :
(1)  Marshall (2)  Robbins (3)  J.K. Mehta (4)  Keynes

http://www.clpd.resonance.ac.in
mailto:clpd@resonance.ac.in


Corp. Office  : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Rd, Kota (Raj.)-324005
Commerce & Law Program Division (CLPD) : J-2 Jawahar Nagar, Kota (Rajasthan)-324005 | Tel. No. : +0744-6635570
Website : www.clpd.resonance.ac.in  | E-mail : clpd@resonance.ac.in | Toll Free : 1800 258 5555 | CIN : U80302RJ2007PLC024029

STSE/18
SAT–112 (C)
PAGE - 18

vFkZ'kkL=k dh vko'; dr kfoghu i fj Hkk"kk l s l EcfU/kr  vFkZ'kkL=kh gS %

(1)  ek'kZy (2)  j kWfcUl (3)  t sñ dsñ esgr k (4)  dhUl

Sol. (3)

78. The  Arithmetic Mean of Series  6 ,  8 ,  7 ,  9 ,  15 ,  11  and  14 is :
(1)  7 (2)  70 (3)  10 (4)  9

Js.kh  6 ,  8 ,  7 ,  9 ,  15 ,  11  , oa  14  dk l ekUr j  ek/;  gS %
(1)  7 (2)  70 (3)  10 (4)  9

Sol. (3) X  = 
N
X

    =  
7

1411159786 
 =  

7
70

X  =  10  Ans.

79. From the following , the Most Uncertain Mean is :
(1)  Mode (2)  Arithmetic Mean (3)  Median (4)  Harmonic Mean

fuEufyf[ kr  esa l s l okZf/kd vfuf'pr  ek/;  gS %

(1)  cgqyd (2)  l ekUr j  ek/; (3)  e/; dk (4)  gj kRed ek/;

Sol. (1)

80. The Characteristic of Wants is :
(1)  Wants are Limited (2)  Wants are Unlimited
(3)  Wants are NOT Complementary (4)  Wants are Decreased with Development

vko'; dr kvksa dh fo'ks"kr k gS %

(1)  vko'; dr k, sa l hfer  gksr h gS (2)  vko'; dr k, sa vl hfer  gksr h gS

(3)  vko'; dr k, sa i wj d ugha gksr h gS (4)  vko'; dr k, sa fodkl  ds l kFk ?kVr h gS

Sol. (2)

81. The Name of famous Kautilya's Book is _______ .
(1)  Micro-economics (2)  Macro-economics
(3)  International Economics (4)  Arthashastra

dkSfVY;  dh i zfl )  i qLr d dk uke gS ________ .

(1)  O; f"V vFkZ'kkL=k (2)  l w{e vFkZ'kkL=k

(3)  vUr j kZ"Vªh;  vFkZ'kkL=k (4)  vFkZ'kkL=k

Sol. (4)

82. The Time Period of First Five - Year Plan  of  India was :
(1)  1961 - 66 (2)  1969 - 74 (3)  1951 - 56 (4)  1947 - 52

Hkkj r  dk i zFke i apo"khZ;  ; kst uk dh l e; kof/k Fkh %
(1)  1961 - 66 (2)  1969 - 74 (3)  1951 - 56 (4)  1947 - 52

Sol. (3)
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83. The Revolution which was Started for the Rapid Growth of Foodgrains in India is :
(1)  White Revolution (2)  Yellow Revolution (3)  Green Revolution (4)  Blue Revolution

Hkkj r  esa [ kk| kUuksa esa r st h l s o‘f)  ds fy ; s t ks ØkfUr  i zkj EHk dh xbZ ] og gS %

(1)  'osr  ØkfUr (2)  i hyh ØkfUr (3)  gfj r  ØkfUr (4)  uhyh ØkfUr

Sol. (3)

84. From the following , the Provision of New Industrial Policy , 1991 of India is :
(1)  Abolition of Licensing (2)  Increase in the Role of Public Sector
(3)  Decrease in Foreign Investment (4)  Rigidity in Restricted Trade Policy

fuEu esa l s Hkkj r  dh ubZ vkS| ksfxd uhfr  , 1991  dk i zko/kku gS %

(1)  ykbl sUl  l s eqfDr (2)  l koZt fud {ks=k dh Hkwfedk esa o‘f)

(3)  fons'kh fuos'k esa deh (4)  i zfr ca/kkRed O; ki kj  uhfr  esa dBksj r k

Sol. (1)

85. The Current Trend of Foreign Trade of India is :
(1)  Decrease in Foreign Trade (2)  Heavy Decrease in Imports
(3)  Decrease in Exports (4)  Increase in Exports

Hkkj r  esa fons'kh O; ki kj  dh or Zeku i zo‘fr  gS %

(1)  fons'kh O; ki kj  esa deh (2)  vk; kr ksa esa Hkkj h deh

(3)  fu; kZr ksa esa deh (4)  fu; kZr ksa esa o‘f)

Sol. (4)

86. The Agriculture related Unemployment is :
(1)  Seasonal Unemployment (2)  Open Unemployment
(3)  Cyclical Unemployment (4)  Frictional Unemployment

d‘f"k {ks=k l s l EcfU/kr  csj kst xkj h gS %

(1)  ekSl eh csj kst xkj h (2)  [ kqyh csj kst xkj h

(3)  pØh;  csj kst xkj h (4)  ?k"kZ.kkRed csj kst xkj h

Sol. (1)

87. The Cause of Poverty in India is :
(1)  Equal Distribution of Land (2)  Equal Distribution of Income
(3)  Rapid Growth in Agriculture Production (4)  Rapid Growth in Population

Hkkj r  esa fu/kZur k dk dkj .k gS %

(1)  Hkwfe dk l eku for j .k (2)  vk;  dk l eku for j .k

(3)  d‘f"k mRi knu esa r hoz o‘f) (4)  t ul a[ ; k esa r hoz o‘f)

Sol. (4)
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88. According to the World Health Organisation , the Noise in Day must be :
(1)  55 Decible (2)  65 Decibel (3)  70 Decible (4)  75 Decible

fo'o LokLF;  l axBu ds vuql kj  fnu esa /ofu gksuh pkfg; s %

(1)  55 Msl hcy (2)  65 Msl hcy (3)  70 Msl hcy (4)  75 Msl hcy

Sol. (1)

89. The Area of Rajasthan is _________ .
(1)  32.8 Lac sq. kms (2)  3.42 Lac sq. kms
(3)  6.85 Lac sq. kms (4)  5.42 Lac sq. kms

j kt LFkku dk {ks=kQy gS _________ .

(1)  32.8  yk[ k oxZ fdeh (2)  3.42  yk[ k oxZ fdeh

(3)  6.85  yk[ k oxZ fdeh (4)  5.42  yk[ k oxZ fdeh

Sol. (2)

90. According  to Census 2011 , the District of Maximum Population in Rajasthan is :
(1)  Kota (2)  Jodhpur (3)  Jaipur (4)  Udaipur

j kt LFkku esa 2011  dh t ux.kuk ds vuql kj  l okZf/kd t ul a[ ; k okyk ft yk gS %

(1)  dksVk (2)  t ks/ki qj (3)  t ; i qj (4)  mn; i qj
Sol. (3)

MATHEMATICS ¼xf.kr ½

61. Function f : Q Q, f (x)  = 3x + 11is
(1)  one-one into (2)  one-one onto
(3)  many - one onto (4)  many-one into

Sol. (2)
f : Q  Q  ; f  (x)  = 3 x + 11

Let f  (x1)  f  (x2)            3 x1 + 11 = 3 x2 + 11  x1 = x2

So , f   is  One-One .

Let f  (x) = y ,   then    y = 3 x + 11  x = 
3

11–y
   V     y  Q ,  x  Q .

So , f  is   Onto .

62. Range of function f (x)  = 2x1
x


 is

(1)  







4
1,

4
1– (2) 









2
1,–

2
1

(3)  







2
1,

2
1– (4)  








4
1,

4
1

Sol. (3)

f  (x) = 2x1
x


 . Let   f  (x) = y ,  then  y = 2x1
x


 x2 y – x + y = 0 .
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 x = 
y2

y4–11 2

If  x  R ,  then    y  0  and   1 – 4 y2  0

 y2   

4
1


2
1

   y   

2
1

But x = 0 ,  y = 0 . So ,  Range  =  





2
1,

2
1–

63. Value of cosec 15º is

(1)  
13

22


(2)  
22

1–3
(3)  

22
13 

(4)  
1–3

22

Sol. (4)

cosec 15º  =  
º15sin

1
  =  )º30–º45(sin

1

   =  º30sinº45cos–º30cosº45sin
1

=  
2
1.

2
1–2

3.
2
1

1
   =  1–3

22

64. If (x + iy)  (2 + 3i)  = 1 + 8i, then value of x is
(1)  +2 (2)  –1 (3)  +1 (4)  –2

Sol. (1)
(x + i y) (x + 3 i)  =  1 + 8 i

 (2 x – 3 y)  +  (3 x + 2 y) i  =  1 + 8 i
 2 x – 3 y  =  1   and    3 x + 2 y = 8
 x = 2 ,   y = 1

65. How many whords can be formed by using letters of word 'RAJASTHAN' ?
(1)  60408 (2)  60480 (3)  60840 (4)  60804

Sol. (2)

R A J A S T H A N No. of Words  =  !3
!9

  =  9  8  7  6  5  4  =  60480

66. The terms without x in the expansion of 
10

2
2

x
1–x 







is

(1)  + 252 (2)  –252 (3)  –225 (4)  +225

Sol. (1)
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10

2
2

x
1–x 








 tr + 1 
 =  10Cr  (x

2)10 – r  .  
r

2x
1








  =  10Cr x

20 – 4 r

Term is Independent of  x .
So ,   20 – 4 r  =  0    r = 5 .

and Term  = 10C5  =  12345
678910




=  252 .

67. If the sum of three numbers of an AP is 15 and the sum of their cubes is 645, then the greatest number is
(1)  5 (2)  9 (3)  8 (4)  7

Sol. (3)
Let Terms  =  a – d ,  a ,  a + d .
Then ,   a – d + a + a + d  =  15
 a = 5     and   (a – d)3 + a3 + (a + d)3  =  645
 a3  –  3 a2 d  +  3 a d2  –  d3  +  a3  +  a3  + 3 a2 d  +  3 a d2  +  d3  =  645 .
 3 a3  +  6 a d2  =  645
 3 a3 + 6 a d2  =  645
 375  +  30 d2  =  645
 d  =  ± 3

Greatest Number  =  5 + 3 = 8 .

68. Arithmetic mean of two numbers is 4 and Harmonic mean of these numbers is 3. The smaller number is
(1)  3 (2)  2 (3)  6 (4)  4

Sol. (2)

Let  nos.  =  a and b . Then  
2

ba 
  =  4  a + b = 8

and
ba
ba2


 = 3  2 a b  =  24  a b = 12

So ,   nos.  =  6 and 2 . Smaller Number  =  2 .

69. If log2 x + log2 (x–1)  = 1, then positive of x is
(1)  1 (2)  3 (3)  4 (4)  2

Sol. (4)
log2 x + log2 (x – 1) = 1 .  log2 x (x – 1)  =  1

 x (x – 1) = 2  x2 – x – 2 = 0
 (x – 2) (x + 1) = 0  x = 2

70. Value of 
1–x1

x0x
Lim


 is

(1)  +1 (2)  +2 (3)  –1 (4)  –2
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Sol. (2) 0x
Lim
  1–x1

x
   =   0x

Lim
  

 
1–x1

1x1x



 = 2 .

71. The length of intercept cut by straight line 3x + 4y = 6 between the axes, is

(1)  
2
5

(2)  3 (3)  5 (4)  
2
3

Sol. (1)

3 x + 4 y = 6       
3/6

x
 + 

4/6
y

 = 1

 a = 2 ,  b = 
2
3

Length of Intercept  =  22 ba    =  
4
a4    =  

2
5

72. The coordinates of centre of circle x2 + y2 + 8x + 10y – 8 = 0 is
(1)  (4, 5) (2)  (–4, 5) (3)  (–4, –5) (4)  (4, –5)

Sol. (3) x2 + y2 + 8 x + 10 y – 8 = 0
 x2 + 8 x + 16 + y2 + 10 y + 25 = 49
 (x + 4)2 + (y + 5)2  =  49

Centre  =  (– 4 , – 5)

73. Length of latus rectum of the ellipse 4x2 + 9y2 = 1 is.

(1)  9
2

(2)  9
4

(3)  9
5

(4)  9
1

Sol. (2)

4 x2 + 9 y2 = 1  4/1
x2

 + 9/1
y2

  =  1

a = 
2
1

 ,  b = 
3
1

Length of Latus Rectum  =  a
b2 2

 = 9
4

74. What is the probability by throwing two dice together that they neither appear equal digits nor the sum of
digits be 7 ?

(1)  3
7

(2)  3
1

(3)  3
2

(4)  3
5

Sol. (3)
n (s) = 36  ,    n (E) = 24

E  = { (1 , 2) ,  (1 , 3) ,  (1 , 4) ,  (1 , 5) ,  (2 , 1) ,  (2 , 3) ,  (2 , 4) ,  (2 , 6) ,  (3 , 1) ,  (3 , 2) ,
(3 , 5) ,  (3 , 6) ,  (4 , 1) ,  (4 , 2) ,  (4 , 5) ,  (4 , 6) ,  (5 , 1) ,  (5 , 3) ,  (5 , 4) ,  (5 , 6) ,  (6 , 2) ,
(6 , 3) ,   (6 , 4) ,  (6 , 5) }
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P (E)  =  
36
24

  =  
3
2

75. The value of sin–1 







5
4

+ 2 tan–1 







3
1

is

(1)  
2


(2)  3
2

(3)  6


(4)  
4


Sol. (1)

sin–1 







5
4

 +  2 tan–1 







3
1

=  sin–1 







5
4

 +  tan–1 
)9/1(–1
)3/1(2 

=  tan–1 







3
4

 +  tan–1 







4
3

=  cot–1 







4
3

 +  tan–1 







4
3

  =  
2


76. If A + B = 







41
07–

 and A – B = 







30
2–3

 then matrix A is

(1)  







41
15–

(2)  







1–1
1–2–

(3)  







2–1
1–1–

(4)  







5–1

14

Sol. (2)

A + B  =  







5–2

07–
  ,    A – B  =  








30
2–3

A  =  

2
1

 










35–02

2–037–
  =  








1–1
1–2–

77. If is the cube root of unity then value of determinant 
1

1
1

2

3

23





 is

(1)  3 (2)  0 (3)  1 (4)  2

Sol. (1)

   
1

1
1

2

3

23





     =  
1

11
11

2

2





   [ 3 = 1 ]

R1    R1 – R2   
1

11
–00

2

2






  =  (2 – )  
2
11

  =  (2 – ) ( – 2)

=  –  (2 – )2  =  – 4 + 2 3 – 2  =  – 3 + 2 – 2

=  3 – (1 +  + 2)  =  3 – 0 = 3
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78. If, points (x, –2), (5, 2), (8,8)  are collinear, then the value of x is
(1) (2)  3 (3)  0 (4)  2

Sol. (2)
Points (x1 – 2) , (5 , 2)  and  (8 , 8) are Collinear .
So , Slope of AB = Slope of BC .

x–5
22 

 = 5–8
2–8

 x–5
4

 = 
3
6

   10 – 2 x = 4

 2 x = 6  x = 3

79. If f(x)  = 







2  if3,
2  x if,kx2

 is continuous at x = 2, then the value of k is

(1)  
4
1

(2)  
4
5

(3)  
2
1

(4)  
4
3

Sol. (4)

f  (x) = 









2x,3
2x,xk 2

  is Continuous at  x = 2 . So ,  LHL = RHL

 –2x
Lim
  (k x2)  =   2x

Lim  (3)

 4 k = 3  k = 
4
3

80. Differentiation of y = tan–1 (sec x + tan x)  is

(1)  
2
3

(2)  
4
3

(3)  
4
1

(4)  
2
1

Sol. (4)

y = tan–1 (sec x + tan x) =  tan–1 






 
xcos

xsin1
  =  tan–1 

 
  


















x–2sin

x–2cos1

   =  tan–1 
 

   2
x–4cos2

x–4sin2
2
x–4cos2 2




=  tan–1 














 

2
x–

4
cot

   =  
2


 – cot–1 













 

2
x–

4
cot    =  

2


 – 





 

2
x–

4   =  
2
x

=  xd
yd

 = 
2
1

81. Volume of a cube is increasing with a rate of 12cm2/sec. if the length of its edge is 16 cm then rate of
increase of surface area is
(1)  2 cm2 /sec. (2)  3 cm2 /sec. (3)  4 cm2 /sec. (4)  5 cm2 /sec.

Sol. (2)

V  =  a3
td
Vd

 = 3 a2 . td
ad

 12 = 3 a2 . td
ad

 td
ad

 = 2a
4
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S = 6 a2  td
sd

=  12 a . td
ad

=  12 a . 2a
4

=  
a
48

td
sd

  at  a = 16      =  
16
48

 =  3 cm2/sec.

82. The equation of tangent at point (1, 1)  to the curve 2yx   is

(1)  x + y – 2 = 0 (2)  x – y - 2 = 0
(3)  x – y + 2 = 0 (4)  x + y + 2 = 0

Sol. (1)

x  + y  = 2 
x2

2
 + 

y2
2

 . xd
yd

 = 0  xd
yd

  =  – 
x
y

Equation of Tangent is    y – y1 =  m (x – x1)

 y – 1  =  – 1 (x – 1)  x + y – 2 = 0

83. Sum of the perimeter of a square and circumference of a circle is given. If sum of areas of square and
circle is minimum, then the relation between side of square a and radius of circle r is.
(1)  2a = r (2)  a = 3r (3)  3a = r (4)  a = 2r

Sol. (4)

4 a + 2  r  =  k  a = 
4

r2–k 

Now , A = a2 +  r2 =  
2

4
r2–k






 

 +  r2

 A  =  2 





 

4
r2–k

 





 

4
2–

 + 2  r =  4
r8r2k– 2 

If A = 0 then  k = 2  r + 8 r
But k = 4 a + 2  r
So , 4 a + 2  r    =  2  r + 8 r

 a = 2 r

84. Integration of function  xcos  1
 xsin  x




 with respect to x is

(1)  cxtan
2
x

 (2)  c
2
x tan x  (3)  cxcot

2
x  (4)  x cot c

2
x 

Sol. (2)

 xcos1
xsinx




 d x =   










 xcos1

xsin
xcos1

x
 d x

=   














2
xcos2

2
xcos2

xsin2

2
xcos2

x
22  d x

=  
2
1

  x sec2 

2
x

 d x  +   tan 
2
x

 d x
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=
2
1

 
















 xd
2
xsecx

xd
d–xd

2
xsecx 22   +   tan 

2
x

 d x

=
2
1

 x . 2 tan 
2
x

  –  
2
1

  2 tan 
2
x

 d x  +   tan 
2
x

 d x =  x tan 
2
x

 + C

85. Value of  



2

0

dx)xcotxtan( is

(1)  22 (2)  
2


(3)  
3

2
(4)  2

Sol. (4)

    
 2/

0
 xcotxtan   d x =  

 2/

0 xcosxsin
xcosxsin 

 d x

=  
 2/

0 xcosxsin2
)xsinx(cos2 

 d x =  2 
 2/

0 )xcosxsin2–1(–1
xsinxcos 

 d x

=  2 
 2/

0
2)xcos–x(sin–1

xsinxcos 
 d x

Let sin x  – cos x  = t Then     (cos x + sin x) d x  =  d t

If x = 0  t  =  – 1 and x = 
2


 t = 1

=  2 
1

1–
2t–1

1
 d t    =  2   1 1–

1– tsin

=   2   )1(–sin–)1(sin 1–1–    =   2 



 




22    =   2

86. Common area bounded by the curve x2 = 4y and line 4y = x + 2 is ` 0

(1)  8
7

(2)  8
9

(3)  8
5

(4)  8
3

Sol. (2)
x2 = 4 y  and  4 y = x + 2 By Solving x2 – x – 2  =  0

x = 2 ,  – 1

Area     = 
2

1–









 
4
x–

4
2x 2

 d x

    =  
4
1

 
2

1–

32

3
x–x2

2
x













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=  
4
1

 













 






 

3
12–

2
1–

3
8–4

2
4

=  
4
1

 



 

3
1–2

2
1–

3
8–6 =  

4
1







2
9

  =  
8
9

  sq. units

87. Solution of differential equation dxxdyx1 26   is

(1)  cxcos
3
1 31  (2)  cxsin3 31 

(3)  cxsin
3
1 31  (4)  cxcos3 31 

Sol. (3)

6x–1  d y  =   x2 d x  d y  =   6

2

x–1

x
 d x

Let x3 = t , then    3 x2  d x  =  d t  d y = 
3
1

  2t–1

1
 d t

y = 
3
1

 sin–1 t  +  C         y = 
3
1

 sin–1 x3  +  C

88. The positive value of projection of vector k̂ĵ2î4  on vector k̂2ĵ6î3  is

(1)  
7
2

(2)  
7
5

(3)  
7
3

(4)  
7
4

Sol. (1)

a


 = k̂ĵ2–î4    ;   b


 = k̂2–ĵ6î3  Projection of  a


 on b


  =  
b

b.a




  =  
222 )2(–63

12–62–34




  =  

7
2

89. The angle between the planes, x + y + 2z = 9 and 2x – y + z = 15 is

(1)  3


(2)  
2


(3)  
4


(4)  3
2

Sol. (1)
p1  x + y + 2 z = 9 ; p2  2 x – y + z = 15

1n


 =  k̂2ĵî  ; 2n


 =  k̂ĵ–î2 
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cos  = 
21

21
nn
n.n




  =  
222222 1)1(–2211

1211–21





         =  
6
3

 = 
2
1

 = 
3


90. If E(X)  = 
2
3

and E(X2)  = 3 of variable X then  variance of X, (X)  is

(1)  
4
9

(2)  
4
1

(3)  
4
5

(4)  
4
3

Sol. (4)

    E (x) = 
2
3

  ,   E (x2) = 3

Variance (x) =   E (x2)  –   2)x(E    =  3 – 
4
9

  = 
4
3

Disclaimer Clause :
These  Solutions  are  prepared  by  the  Expert  Faculty  Team  of  RESONANCE . Views  and Answers  provided  may
differ from  BSER 2018  due to difference in assumptions taken in support of the answers .
In such case answers as provided by “BSER 2018” will be deemed as final .
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